MAL &3 /R <L

MA Series Stainless Steel Mini Cylinder

1J 845 Ordering Code

MAL - U - 20x50-25 - S - LB - MT
fa=83{ Back Cover Type %E%&?‘Jﬂ Sensor
=
£%IXS Series Code l AIR{TIE l
Z=H. ] i o :
=H: #%)%’_—E: $142 Bore Adjust Storke BRI Fixed Type  xYC—03REAMFEE
CM: EEB l l RS
MAL: EzhE U: FRE _ l XYC-03R
MSAL: ESzhimH R Blank: Standard With 16~40mm 0~100mm ZS[q: EAR magnetism switch
MALD: Ui SzhE Eye Mounting LB: FISEER Sensor bend
MALC: Szhigha CM: Round Rear Cover BEAS Magnet G FA: BiBEIER(FTE)
ode
MALJ: XU eI AR U: Flat Rear Cover el SDB: [E&=E R (RIER)
MAL: Double Action Type Blank: Normal type
MSAL: Single Extrusion Type E=IR o i) LB: Front & back fixed type
MALD: Double-shaft Double Action Type S: REHIF FAA: Front cover fixed type

1772 Stroke (Front flange type)

SDB: Back cover fixed type

MAC: With Buffer Type
MAJ: Double—shaft & Adjustable Stroke Type

& Specification

Blank: Without Magnet
S: With Magnet

95

A1 Bore (mm) 16 20 25 32 40
FN1EEI/Motion Pattern ExpAs &= Double Action or Single Action
T &N/ Working Medium =5 Air
EE&=/Fixed Type HKE/Normal Type LBE/Type FAZE/Type SDBEY/Type
R E/IEEl/Operating Pressure Range 0.1~0.9MPa
{RIEMES/Ensured Pressure Resistance 1.35MPa
R ESERE/Operating Temperature Range -5~70°C
f#E R ESBE/Operating Speed Range 30~800mm/s
SEhAIT FRtEEY/Standard Type BriER A Anti-crash Buffer
Buffer Type 218 /Damping Type - A% Adjustable Buffer
EEOR/Port Size M5x0.8 G1/8” G1/4"
Be 2 = 25
NO. Designation NO. Designation
1 TEZEEFTIZE Piston Rod Nut | 9 Fp#EER F Anti-crash Buffer
2 JEZEFF Piston Rod 10 | EZEHFOZELE Piston Rod O-ring
h AR AL 2 2R nize L 3 e 11 | EORME Pistion O-ring
' - i Front Cover Seal Ring
d ; 4 2ihih& Bearing 12 SEZE Pistion
""""""""""""""""""""""""" S i T 5 | BUZE¥EE Front Cover Nut | 13 TSR Wear Ring
U %Bl_/——\,: 5 m - r=' 6 Eﬁ%:gr:nt Cover 14 %2¢@§1§ Seal Buffer
7 . BEEEOLLE _ 15 M7 g
Pipe Wall O-ring Hex Socket Screw
8 A& Aliminum Tube 16 5% Back Over




MALZR?E &S HRET

MAL Series Aluminum Alloy Mini Cylinder

AR TETRE mAITIE BIF T2
Bore(mm) Standard Stroke Max.Stroke Permissible Stroke
16 25 50 75 80 100 125 160 175 200 300 500
20 25 50 75 80 100 125 160 175 200 250 300 500 650
25 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650
32 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650
40 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650
4MEZ R~ Overall Dimension
A+ 1712(Stroke)
» B C+ 17#(Stroke) D AY
a E FL G G S &P _(H8) !
MAL . ‘A gz_/gl—w 2:X *'9_@ — )
i1
B + a "‘ i if| h /F( =) >
= I 123 - 1= <
| AN
M/ w | = | |
A H-'rﬁtsvake;_
P E . - C + f5#(Stroke) 5 D1 :
7N gl e
MAL-CM ‘ } ﬁs‘\
) TEH ek
= =75 . &
oV, W, {7
A2+ {T#2(Stroke)
B C+{7#(Stroke) |
E [ G G
7N 1 |pE =
[ Eid N
MAL-U L J S R =
~ DV w
M,
R~}Z Dimension Sheet
A1 Bore A A1 A2 B C D D1 E F G H | J K
16 114 114 98 38 60 16 16 22 16 10 16 10 5 M6 x 1
20 131 122 110 40 70 21 12 28 12 16 20 12 6 M8 x 1.25
25 135 128 114 44 70 21 14 30 14 16 22 17 6 M10x1.25
32 141 128 114 44 70 27 14 30 14 16 22 17 6 M10 % 1.25
40 165 152 138 45 92 27 14 32 14 22 24 17 7 M12x1.25
A1 Bore L M = Q R R1 S U \Y W X AR AX AY
16 M16x 1.5 14 6 12 14 14 9 21 6 5 M5 6 25 22
20 M22 x 1.5 10 8 16 19 10 12 29 8 6 G1/8" 7 33 29
25 M22x 1.5 12 8 16 19 12 12 34 10 8 G1/8" 7 33 29
32 M24 x 2.0 12 10 16 25 12 15 39.5 12 10 G1/8" 8 37 32
40 M30x2.0 12 12 20 25 12 15 49.5 16 14 G1/4" 9 37 41

96

SEL

Cylinder




MALR5%56 SR IREL

MAL Series Aluminum Alloy Mini Cylinder

42 R~ Overall Dimension

MSAL o, MSAL-CM
[ + i
_ A+ 17#2(Stroke) A1+17# (Stroke)
B C= 17 18 (Stroke) o B C+ f7#¥(Stroke)
£ AFR Cl? %/2 2 o = = If % o $P(H8]
i 28 22 4 JH I<3/2 R1/(_)
- LT 7 = [
- 29 — 7Y D -3 ! E
W W o 6 I \ L
E R bV, W, L"."—I
MSAL-U
R~}Z Dimension Sheet
A A1 A2 C
FES B
A2+ ﬁmsyn;e) — Bore _ 51~ _ 51-.. _ 51~ _ 51~
e S 0~%0 | 4o | 9750 | 100 | 9790 | 400 0~%0 | 400
H AR |G<I£
: T} 20 131 | 156 | 122 | 147 | 110 | 135 | 40 | 70 | 95
-4 L 25 135 | 160 | 160 | 153 | 114 | 139 | 44 | 70 | 95
W ] 32 141 166 166 153 114 139 44 70 95
40 165 | 190 | 190 | 177 | 138 | 163 | 46 | 92 | 117
/=
E:IO‘:IFG DID1|E|F|G|H| I |J K L M|IPIQ|RIRT|S| U |V | W| X |AR|AX|AY
20 2112|2812 |16 |20 | 12| 6 | M8x1.25 | M22x1.5 | 10| 8 |16 |19 |10 | 12| 29 | 8 | 6 |G1/8"| 7 | 33| 29
25 2111413014 |16 |22 |17 | 6 |[M10x1.25| M22x15 |12 | 8 |16 |19 |12 |12 | 34 |10| 8 |G1/8"| 7 | 33| 29
32 27114130 |14 16|22 |17 | 6 |M10x1.25| M24x2.0 | 12 | 10 | 16 | 25 | 12 | 15 |39.5| 12 | 10 |G1/8"| 8 | 37 | 32
40 27 |14 |32 |14 | 22| 24 | 17| 7 |M12x1.25| M30x2.0 | 12 | 12 | 20 | 25 | 12 | 15 | 49.5| 16 | 14 | G1/4"| 9 | 47 | 41
YMFZR<F Overall Dimension
MALD MALJ
A+{7#8(Stroke)x 2 z:»t:lfi(snoke)xz o]
+{7#2(Stroke +{7#2(Stroke B C+{7#2(Stroke) B+17#2(Stroke
EB = = C+{7#2(Stroke) = | = B+17#2(Stroke) AIY HE AFR G/(Z; %/2 F_,_1712(Stroke) AIY
H AR (G2 | 2-X o) ~— G2 |2-x
T i f%\ zam &Y T T 2
e — — = Loy 4 H — =1 A
o T | C AN
M |~ (S ma———-

E\]g?e A|lAMM B|C|E|F|G|H I J K L M| U vV | W X [AR|AX|AY | T
20 150 | 147 | 40 | 70 | 28 | 12 | 16 | 20 | 12 | 6 | M8x1.25 | M22x15 | 10 | 29 | 8 6 |G1/8"| 7 | 33]29 |19
25 158 | 165 | 44 | 70 | 30 | 14 | 16 | 22 | 17 | 6 | M10x1.25 | M22x15 | 12 | 34 | 10 | 8 |G1/8"| 7 | 33 | 29 | 21
32 158 | 165 | 44 | 70 | 30 | 14 | 16 | 22 | 17 | 6 | M10x1.25 | M24x15 | 12 | 39.5| 12 | 10 |G1/8"| 8 | 37 | 32 | 21
40 184|180 | 46 | 92 | 32 | 14 | 22 | 24 | 17 | 7 | M12x1.25 | M30x2.0 | 12 | 495 | 16 | 14 | G1/4"| 9 | 47 | 41 | 21

97



	德捷catlogue-2021 95
	德捷catlogue-2021 96
	德捷catlogue-2021 97



